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o
o
16 4.1%
o
15
12
1.7%
o
16 0.3%
2.0% 16 15
15
35,438 33.6 35,153 34.5 285 0.8
1,140 1.1 619 0.6 521 84.2
3.4% 8,552 8.1 7,603 7.5 949 12.5
1.8% 2,704 2.6 2,595 2.5 109 4.2
22,346 21.2 21,491 21.1 855 4.0
1,632 1.5 1,495 1.5 137 9.2
16 15 71,812 68.1 68,955 67.6 2,857 4.1
A 105,417 105,773 356 0.3 1,312 1.2 1,299 1.3 13 1.0
101,994 3,423 3.4 4,400 4.2 4,350 4.3 50 1.1
B 100,811 102,822 2,011 2.0 14,720 14.0 13,831 13.6 889 6.4
99,043 1,768 1.8 5,009 4.8 5,378 5.3 369 6.9
C=A-B 4,606 2,951 1,655 56.1 1,624 1.5 659 0.6 965 146.4
D 604 102 8 0.0 1,176 1.2 1,168 99.3
E=C-D 4,002 2,849 1,153 40.5 2,494 2.4 2,227 2.2 267 12.0
Fee 1,153 153 1,021 1.0 1,026 1.0 5 0.5
G 1,427 1,503 76 5.1 3,018 2.9 3,092 3.0 74 2.4
H 0 0 33,605 31.9 33,039 32.4 566 1.7
1=F+G-H 2,579 1,350 105,417 | 100 101,994 | 100 3,423 3.4
16

16
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2.2%

0.04%

4.2%

11.8%)

@.7%)

16 15
58,540 58.1 58,563 59.1 23] 0.0
29,187 29.0 29,845 30.1 658 2.2
24,062 23.9 22,450 22.7 1,612 7.2
5,291 5.2 6,268 6.3 977 15.6
4,478 4.4 4,399 4.4 79 1.8
707 0.7 265 0.3 442 166.8
3,771 3.7 4,133 4.2 362 .8
37,794 37.5 36,082 36.4 1,712 4.7
16,628 16.5 16,613 16.8 15 0.1
1,479 1.5 1,323 1.3 156 11.8
4,942 4.9 4,696 4.7 246 5.2
4,044 4.0 3,129 3.2 915 29.2

0 0.0 0 0.0

1,264 1.3 1,266 1.3 2 0.2
9,437 9.4 9,055 9.1 382 4.2
100,811 | 100 99,043 | 100 1,768 1.8

16 15
693 0.7 704 0.7 11 1.6
15,430 15.3 15,369 15.5 61 0.4
43,335 43.0 42,186 42.6 1,149 2.7
12,612 12.5 13,415 13.5 803 6.0
478 0.5 347 0.4 131 37.8
1,707 1.7 1,697 1.7 10 0.6
7,301 7.2 6,902 7.0 399 5.8
377 0.4 341 0.3 36 10.6
13,585 13.5 11,811 11.9 1,774 15.0
5,294 5.3 6,273 6.3 979 15.6
100,811 | 100 99,043 | 100 1,768 1.8




16 15
5,291 6,268 977
70,613 68,510 2,103
3.1% 7,881 10,866 2,985
40.5%) 78,494 79,375 882
6.7 7.9 1.2
16 15
4,002 2,849 1,153
70,613 68,510 2,103 o
5.7 4.2 1.5 15
15 16 16 C 16 D=A+B-C
2.0% 39,446 1,021 4,170 36,296
4.1%
23 12 12
o
15
16 15
59,591 58,399 1,192
73,284 70,417 2,867
72,281 69,417 2,864 15 16 16 C 16 D=A+B-C
81.3 82.9 1.6 31,043 4,044 8 35,080
82.4 84.1 1.7
1.1%

15.6%)




